
Reading Questions 9

Section 7.2 : Example 1

1. The derivative of f(x)g(x) is f 0
(x)g(x) + f(x)g0(x).

2. Suppose I tell you that
R
xex dx = xex � ex + C. How can you verify this claim?

Section 7.2 Integration by Parts (Part 1)

Introduction

Theorem: Integration by parts

Z
f 0
(x)g(x) dx = f(x)g(x)�

Z
f(x)g0(x) dx

or Z
u0v = uv �

Z
uv0

P 1. Use integration by parts to find
R
x cos(x) dx.

P 2. Find
R
x2

ln(x) dx.

P 3. Use integration by parts to find
R
x2e3x dx. Be sure to write down u and v.

Going in circles

P 4. Find
R
sin

2
(x) dx. Hint: You might find yourself going in circles.

P 5. Find
R
ex sin(x) dx.
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